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1. BEEBOL
(1) #FEINEE
HARBEERLE 49,000,000 1 |[ 49,000,000 1 |[ 0]
BEARBEZIWEREYE 49,000,000 49,000,000 0
BEEEERTE 70,000,000 1 |[ 70,000,000 1 |[ 0]
BEEESIELE 3,000,000 3,000,000 0
BEEEZIFR 67,000,000 67,000,000 0
MU S 40,000 ][ 40,000 ][ 0]
MULEE 20,000 20,000 0
SZHF R 20,000 20,000 0
BEEUNEEET 119,040,000 119,040,000 0
(2) EEEHR
= 136,386,000 1 |[ 134,096,000 1 |[ 2,290,000 ]
BARERRE 14,650,000 16,050,000 A 1,400,000
FMTAREIRE 26,000,000 25,000,000 1,000,000
BELEXE 5,000,000 5,000,000 0
EHEEREREE 17,000,000 19,000,000 A 2,000,000
1% B EREN 11,600,000 11,600,000 0
WHwHEFY 19,000,000 19,000,000 0
BREAHER 1,256,000 1,256,000 0
EELEE 5,070,000 5,070,000 0
=& 800,000 800,000 0
REXEE 1,800,000 1,800,000 0
BIEERE 1,300,000 1,300,000 0
RENE 17,290,000 14,500,000 2,790,000
HEMNSRERE 1,000,000 1,000,000 0
BiEE 3,500,000 1,000,000 2,500,000
RIS AR E 2,000,000 2,000,000 0
SeE K E 2,200,000 2,200,000 0
EBERRE 400,000 1,100,000 A 700,000
EEH 400,000 400,000 0
RigH 1,020,000 1,020,000 0
AR ER 2,100,000 2,000,000 100,000
BREE 1,000,000 1,000,000 0
M 2,000,000 2,000,000 0
BREERE 136,386,000 134,096,000 2,290,000
LR IR EEE A 17,346,000 A 15,056,000 A 2,290,000
2. FEIMEROER
(1) BEH I
EENINEEET 0 0 0
(2) RENEHR
BEENERE 0 0 0
LHRRRE SV IR HEE 0 0 0
0 HA — A0 TF Gk BA EE 1 g 4A A 17,346,000 A 15,056,000 A 2,290,000
—IRERMESRERS 3,911,990,000 3,620,640,000 291,350,000
— AR IECREAEEARES 3,894,644,000 3,605,584,000 289,060,000
I 15 IELREABEIE R D ER
L HA4E 7E 1E LR BA BE TS B2 0 0 0
EEEKRMESRERS 333,310,000 246,830,000 86,480,000
IEEEKRERRES 246,830,000 246,830,000 0
I EREAEHIRES 4,141,474,000 3,852,414,000 289,060,000
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1. BEEBBOE
(1) BHEINEE
HEAKRAEERLT [ 30,000,000 1 |[ 30,000,000 ] |[ 0]
EARUFEZME LS 30,000,000 30,000,000 0
MU AT [ 170,000 1|[ 170,000 1 ([ 0]
UL AR 150,000 150,000 0
SZEF R 20,000 20,000 0
BRI ET 30,170,000 30,170,000 0
(2) REER
EEE [ 31,634,000 ] [[ 27,824,000 ][ 3,810,000 ]
% EEREN 9,800,000 9,300,000 500,000
WwHEFS 4,200,000 4,200,000 0
IRESHG 1T E A 234,000 234,000 0
=IELEE 1,430,000 1,430,000 0
=& 1,500,000 1,500,000 0
WREXBE 1,500,000 1,500,000 0
BIEERE 150,000 150,000 0
I EENE 2,790,000 2,000,000 790,000
HEASRERE 200,000 200,000 0
EiEE 3,500,000 1,000,000 2,500,000
SeE KL E 350,000 350,000 0
E ST 1,500,000 1,500,000 0
EEM 500,000 500,000 0
REg# 160,000 160,000 0
FHfFR AR 320,000 300,000 20,000
BREE 1,000,000 1,000,000 0
e 2,500,000 2,500,000 0
BEERE 31,634,000 27,824,000 3,810,000
LR EIEEEE A 1,464,000 2,346,000 A 3,810,000
2. FENMEBOE
(1) BEMNINEE
BEsIRIEET 0 0 0
(2) BENER
BENERE 0 0 0
LR E s R 0 0 0
2L HA— A% TF Ik BA EE 1R AE A 1,464,000 2,346,000 A 3,810,000
—RERBEHEERS 72,820,000 60,310,000 12,510,000
— IR IERBMERARKS 71,356,000 62,656,000 8,700,000
I $5FEIEREAEEIZRDER
L HATE E E LR BA EE KR IRAE 0 0 0
EEEKRMEHERS 0 0 0
IEEEKRM EHRES 0 0 0
I ERBIEHRES 71,356,000 62,656,000 8,700,000




